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1. A, B ve C birer rakamdir. 3. K velL dogal sayilardir.
A-2.B=C =

kosulunu saglayan lg basamakli ABC dogal sayila-
ri olusturuluyor.

Bu sekilde olusturulan kag tane sayi vardir?

A, B and C are numbers. How many three-digit
natural numbers are there that meet the
requirement "A- 2-B=C" ?

A)17  B)24 @ D)15  E)26
N
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B | e
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K 15

1
L+1 ﬁ 5>L
- L=14

Yukaridaki bolme igslemine gore K en cok kactir?

K and L are natural numbers. What is K at most

according to the division K ' 15 ?
L

L

2 C)240 D)241  E)245

A)24
“\—— 1S 1Sl = 2254
:933,

N

| 2. a7bc ve a2bc dort basmakli dogal sayilardir.

a2bc sayisinin 15 ile béliimiinden kalan 11 oldu-
guna gore, aTbc sayisinin 15 ile béliimiinden ka-
lan kagtir?

a7bc and a2bc are four-digit natural numbers.
Since the remainder is 11 when a2bc is divided by
15, what is the remainder when a7bc is divided
by 157

A)0 @ )7 D) 11 E)14

0,24 0,012 0,001 _
0,3 0,04 0,02

A}0,055 C)55 D)55 E)5
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e 7. A={x|20<x<241 x=2k,keZ}
. gy 258 il B={y|-16 <y <252 y=3k,keZ)
A) 1 B) ‘; @ D’% E)0 >n(AnB)=?
A)93  B)90  C)89 . D)87 @
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6. f:R-{2}>R-{1}

— 'Jr_[c‘._
L SRl T s
f(x) = x+25 = U= ?fm:;_ fc‘_\Jr_Q[-.t{A'\(.
X— :

olduguna goére f(x + 2) nin f(x) cinsinden esiti
asagidakilerden hangisidir?

Since f:R={2} - R = {-1}, f(x) = —X +25 ’

Which of the following is the equivalent of
f(x + 2) in terms of f(x)?

f(x)+2 f(x)+2 o) f(x) -2
f(x)+5 2f(x) +5 f(x)-5
f(x)-2 & 2f(x) + 2
21(x) +5 ) F0-5
—(m42)+5 -n+3
Llw+2) = i
(H>A+2D) (mt2) =2
- Par) \‘_" i :
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,!..Hl-‘l Vel " L1 e e e :
2§14 S 24145
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B. xelZ
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A oone 33 _4)int_see 11. Seker orani %20 olan 20 gram gekerli suya 2a gr se-
9. 2 Tx 12 ; 2 By : ST ker, a gram su ilave ediliyor.
X — p—
x-3 Olusan yeni karisimin seker orani %50 olduguna
D) 2X —6 E) XF 4 2a grams of sugar and a grams of water are added

SE(R3) A)(M (1!&51
Gt nd) Sl (x2-3x49)
N e -

ey

to 20 grams of sugar water with a sugar ratio of
20%. As the sugar ratio of the water we have in the

end is 50%, what is "a"?
D) 10 @

A) 4 B)6 C)8

20.29 = Lge seko

(e

<20+301\5‘Q
' ]

2043a = B+4Q

Lt 20

a={1,

10. 3,4, 5 ve 8'e boliindiigiinde 1 kalanini veren 2400
den kiigiik en biiyiik sayinin onlar basamaginda-
ki rakam kactir?

What is the digit on the tens digit of the biggest
number which is less than 2400 and gives the
remainder of 1 when divided by 3, 4, 5 and 8?7

D)7

A) 0 B) 1 )2

Evok (34,5 ¥) =10

200 e kiclh 4 Vafoua Vsn Sy

<2258
LyoNehg

1ro% 49 +|

12. Bir satici satmig oldugu Urtnlerin fiyatini %30 azalt-
tiginda, bir glinde satilan Urlin sayisinin %60 arttigi-
ni goriiyor.

Buna gore, saticinin bir giinde kasasina giren
para yizde kag artmistir?

A vendor realizes that when he discounts the
prices of the products by 30%, sales increase by
60%. According to this data given, what
percentage is the increase in the daily turnover
of the vendor?

@ B) 13 C) 14 D) 15 E) 16
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ABCD is a rectangle. Since |DC| = 3-|AD), &

3:|FB| = 5-|AF|, what is tanx = 7
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17. x=/6+ 4
y=V8+ 3
= V'r1_2 + \"5

olduguna gore, agagidaki siralamalardan hangi-
si dogrudur?

Since x =6+ V4, y=8+ 3, z=1/12 + V2,
Which of the ordering below is right?

@<,<z

Dyz<y<x

B)x<z<y
E)z<x<y

Cly<x<z

¥l = o + 213y

19. Bir top 54 metre yikseklikten birakiliyor. Top yere
her carptiginda, dustiga yluksekligin % ' kadar yik-
seliyor.

Buna gore topun diiseyde aldig! yollarin toplami
kag metredir?

A ball is dropped from a height of 54 meters. Every
time the ball hits the ground, it rises 2/3 of the

height it falls. According to this, how many meters
is the total of the vertical paths the ball travels?

A) 250 @70 C)280 D)290 E)300
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21. 8 sayinin aritmetik ortalamasi 16 dir. Bu sayilardan,
aritmetik ortalamasi 7 olan 4 sayi ¢ikariliyor.

Buna gore, geriye kalan sayilarin ortalamasi kag-
tir?

Arithmetic mean of eight numbers is 16. Four
numbers, whose arithmetic mean is 7, are removed
from the other numbers. According to this data
given, what is the arithmetic mean of the
remaining numbers?

A) 24 @ 02 D2 E)2s
& say doplant = 81b =12%
Uy saq daglow > AF~ 1%
{afoylsr = 100
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(-2 ) (=% 27. f(x)=In(x+2x+2) +x* = f(1)=?
(O-1 ‘1-6_
y = f(x) A}% B)1 C}% @ E)2
. iz \1 A+ 2 X R T f
dipatnrinr)) o === = =m A
= SN TR LT ETA >
2 N b naks B ol L A S L R : ,
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L £ ¥4
Since |OC| = 2|OA|, What is the product of the n i A (2 . 444 4
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y=fx)? Lini- _{_{ (n-2) (-2 ) 1z
45 37 31 s |
o B) =4 C) P &5 {: t1]- l'{,r. i ?l 3
9
T4 gLl
3 3
=i
Plyl=3
! + b
| 26. f:R">R - J,
) : Tha g )= a(2)=3 sin| tan| —-x T )
' (2x) = g(x) i ki N nmﬂ_n-mm '
4 £3 x—2 e?x-4 _4
2 L =gY(2)=7
ghﬂ ?? 3.’ f! 2
X fi(x)=x"+3x " ¥ 9 on
=18 A) — 6@— C)— D) — E)n
2 5 9 9 2 4 3 3
-@~ B2t LR 2 , e
9 9 9 2 5 o S ro s fon U ) H Ve
— 4= Mo =T - / 1 Col(o
f ten)=g(a) = &r%”“‘l*?% i S
F ¢ humw? %fu1- 2 e b - 9 .€°
} -+
l \73 (3&)) g .
0 | l%_ Q l’ ?

]
? 'fJ \.'l‘. _'r/q
-




DENEME-5

YOS / TOBT

29.

Ic ice cizilmis O mer-
kezli iki gemberde

m(COD) = 80°
IAO| = |AC]|
an(r) -:E"O
d : ~ya '
v Verilenlere gére, —— orami kagtir? = o180 3
o= 110 (1) Bl s g2 282
x* -1 ? m{CﬁD) = 80°, |JAOQ| = |AC| for two circles, whose
13 center is "O" and one of which is drawn inside the
A) —— B) -5 other. oo
2 : _ |axB :
16 < What is the ratio of —— according to the
T &
‘ 'l_r‘-’f?,uér},fulh‘-\'-— 2%, % data given above?
& M) 2
-3/ (y s 1 1 1 1
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J 5= - Yy
v 3 (-T. J |
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= -ll..'g - % (‘,? C|1 5 kﬂ} ' lﬁﬂ" 1
2] refa-3) +(¥=> D\ K=R 2%
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ix 32 e —
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0. 1= [ @*-ndt= =2 isL o ,///ﬂﬁﬁmfx\
x2-1 s ey / (// \
A1 BM 613 @ E) 15 I: e ata, b))
WX _ , \ M@3.5) )
Wt s - b Y \ \ /
V2 ) e (et ), GO ) = el i : /
> d P fad )= f (™ s y K

N\
/ a 3
E T N
= (0: T :

~

\ ol [ =)
<) Kplru}:lf.?l-‘.i'-(g" 'S
I 2 L|"?"- d Ly

g ok \
1), ()= (0111

\s=1 Yukanda verilen gemberin denklemi asagidaki-
lerden hangisidir?

Which equation below is for the circle given
above?

fﬁiw—3f+w—sf=5
B) x-2°+(y-7)°>=8
C) x+3P+(y+5°=5
D) (x=3f +(y+5°=5
E) x+3+(y-5°=5
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33. Taban yarigapi 2 cm, ana dogrusu 4 cm olan dik
koninin hacmi kag cm’® tiir? -

How many cubic centimeters is the volume of a
right cone whose base radius is 2 cm and
generatrix is 4 cm?

3 3 3
qg%—“ E) 12n
2B . | _n._f.i_\l

ABC dik liggen,
[DE] L [AC]
IDE| = 8 cm
JAE| = 12 cm
|AB| = 27 cm

olduguna goére, |[BC| kag cm’dir?

ABC is a right triangle and [DE] L [AC], |DE| = 8 cm,
|AE| = 12 cm, |AB| = 27 cm. How many cm is |BC]|
according to the data given?

A) 21 B) 20 @IB D) 16 E)12
9
& o)
— e

35. ABCD bir dértgen

E, F, G, H noktalari orta
noktalar

N
A(DEH) = x

—
ABGF) =y

A(EFGH) = 20 cm?

olduguna gore, x + y sonucu nedir?

ABCD s a quacdffafere)‘. e l_i G and H are
midpoints. A(DEH) = x, A(BGF) =y,
A(EFGH) = 20 cm? and whatis x +y = ?

Q@ B)y12 C)14 D)15  E)20

AlABcD) = 2 A (EFGH)

A

29
AR)=Lo | x4yttt ~20

X4\ =2
4 ML}_{* 1 ()20
y-lr -
3. 123 %j' fg}
234
345 =234=7
456
612
@ RP B) PMB C)RPM
< D) BNE E)NER
tb=b (orAcda \nic\h\O\'— r)

m-j-?(@:o:r%o “Wo'e
| DN (2ondayél)

Crerele\l <\ \emneler 3"?""‘

c&”\Jﬂ

_bnﬂl&- & aAT
~ e . PNB
_see—Pm
&:\lf:a&’f ~23Y - W e
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. kem by BEAT 39,
+ KAN
SAE
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B)5 C)6 D)7 E)8 = —
A) 49 ,\@ C)24 D)68  E)120
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En dslaby dab&lmﬂ@& Sa&j’b‘f)
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;OD >4 20323 2uoo 1
6 =23 3¢ oy (221
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M. e 43.
DN C
A) 35 B) 21 C)39 D) 26 ‘@

\OXZ‘H ~8 \]
il e e i :
| U X214l =8 J Sl

94_3,:_(9_ e > @ B) 27 C)25 D) 24 E)23
\ 12x2 +{=15 ) 6= 342 o
2543—:?3//-—# B = A el
C = 14?:-1“
S A b4 L L S
28
20
2. [y [BJU[R[ATQ 44.
LB
?U 0|6
“IR [12 9
A
Q 6
B+U+R+A+Q=7?

4.1,14042 =2
A8 B9  C)10 D)1t

Prizmanin kapal hali asagidakilerden hangisi-
dir?

Which one below is the closed form of the

ism?
UxA=p A- o £ : i
U-XQ'-‘(? B=3 6 / g
Qx@ 2 J’Z .__}lb-:z_l ‘/| - /
Rxl -9 He=13 D) . B
Gekigh =22 /T/

W ?\.'dl L.th \chS!nh G $rieten

o\Jr

13
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45. o o e o |lo ° o o 47. Asagida verilen Futoshiki bulmacasinda 1-2-3-4
o o e | e e ol °_ 9 rakamlar satir ve situnlarda yalnizca bir defa kul-
: : : .i '! : : ¥ g : lanilip buylktir (>) ve kligiktir (<) kurallarina uygun
_ ' : olarak yerlestiriliyor.
Al o B) [e C) T _i Fi%t
e e : : . K : l | ’Z| b! L?
[ ] ] L ] —
. s el [l A & [ [
E) — — :
sy B q] [0 b3
e e @ [} v A .
=R e 3Dh[2] (W [T
\ \ l—efd-/ie’“ A+B+C=7?
ft{l_‘M IL'“..‘P'— E_;:J“‘k\ 4 3_’34 ,‘ - ?-

Used only once in rows and columns, numbers
1-2-3-4 were put on the Futoshiki puzzle below in
accordance with “the greater than (>)" and "less
than (<)” rules. Whatis A+B+C=7?

A)6 B)8 @ D)2 E)9

46. Asagida 1x1 birimlik karelere bolinmus 4x7 kibrit 1z-

anriveu}m ‘§Ltir. —

ﬁr\rﬁ\\a_&

Bu kibrit izgarada kag tane kdse vardir?

A square grid is divided into 4x7 squares each of
which is a square unit. How many corners are
there in this square grid?

A) 42 @ C) 38 D) 36 E) 34
QS - &

1
¥ Bzmlﬂﬂ
ﬂ%ﬂ L S
JW ] e
Sl
L) @
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59. |

. N\
oty \

OK =G\ W = L +\L
\/\:9—”‘) 3\1)"’,_.4' Q—W
Wz b

7 kg’k',.,fJ“"‘4

- 8323856388

Dijital saat siyah segmentlerin yanmasi ile 0-9 arasi
rakamlar elde ediimektedir.

Buna gére islemde esitligin saglanmasi icin kag
tane segmentin yanmasi gerekir?

Numbers from 0-9 are obtained by lighting digital
clock segments. How many segments needed to
be lit to obtain the equality in the operation?

A) 7 B) 6 C)5 D) 4 @

kx3 =3
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67. .
« ZEB e 8
y;- 3|6|7 )} 8 Ty 9|5
¥ 95 |8 6 2147
I\ B3] 50
R 3|96 7 ]
1 g«f 4|8 ; - 5|3
\}; 5;9- Mol 5ol [7[e] [4
SO\ [8]9 2 5
@‘N‘ \
Yukarida verilen sudokuda 1-9 kadarki rakamlar &y-
le yerlestirelimki satir ve sutiinda ve ayni kare igeri-
! = : ; sinde ayni rakamlar yan yana gelmesin.
o v oo Buna gare lsTANBUL= ?
C) 5 Y
%g = fg = i In the Sudoku puzzle above, put numbers from 0 to
I 17t 9 in such a way that no numbers meetf each other
2 < ik vertically, horizontally or in the same square.
i sl h BN According to the data given, what is ISTANBUL=?
E) P
L i A) 22113211 B) 12451367 C) 14232332
Ui e o 1112111, E) 11254611
Y
L‘\'
e
f\_l" 0‘”
Dl.‘\T " /—{? [l 7 /5/'\
66. 68.
1. 11525 |4 6. 1.851 2 | 15
Deonon o
y —) (J&IA0A
- lr.ul.t-\'fjf Fiide A)105 B) 11 115 D)12 E)125
" au- oldaalider, : } ' } o
A) B) A%SiYy,C
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69. 1 #3=9 o5 harest ahan g~ 71. Asagidaki harflerden hangisi bir yonii ile diger-
. 4 =16 lerinden farklidir?
M.305=8 wp 4oy han ‘J"' Which of the following letters is different from
V. 5414 =29 the others in one aspect?

(#sina) [] («cosa) = ?

6 -

? 1 =
S\'noK - C’o}a( - 4 QFJ;S-«\TJA

2o C)cos2aa D)tga E)ctga

A fi;'l!d(; o(-l/.

A) K B)A C)E @ E)Y

ok Arsloaticl il

A

;o\, I. (8,1,6,5)0 =84
/1l (6,2,9,3)0 =96
. 79¢ =7

IV. (7,4,3,2)0 ¢+ =6

(5,3,4,6)0 ¢« =7?

A) 5 B) 6 €. 7 @ E)9
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Y (%*6) x (145)=\Ux6=24
T 5(p+1) x043) =&x1290

T oy 34%=ll 4tb=7
5 @13) x(44) =(0.6-b0 bt
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v Bune 56(9 3um Hanle;t.uvl

EN GUZELI = ?

A) 43144322
43233422
C) 43232422
D) 43253422
E) 43153422
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ABC = ?

A)396 B)963 an D)369 E)936







